EARAROBEEIERT — 2 N— IBISH —F

2012558178 (k) 2EIFI5I4H

R e EESG

‘ [Riz] ¥ ‘ [REBE] — | % (&) 1000M FHE

[~E4£] 1% :250,000 ™  23%&:50,000 ™ ~ 33#%:38000 M  43#&:25000 M  57#&:12,000 H

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- NN R NETEAT :02. — . — IR (eimE)
1M > = JFLIN=T 4 3 56.0 T 1(0_2)6 3-3 37.7 1 (4i2) g;’;&% 2]
R:T77RYI7 B:b—T—L—E-— ZYHLIT— I
Sy, 4 3 | AR 1:03.1 525 38.0| — 2 426 | REFK (tEE)
2|7|8|F~37-L 56.0 2172 (o) | PEER
L:74H0 B:ANRYA—L Yriva LB
I . it 3 | JISHA 1:03.4 1-1 38.9| — 6 418 | EARHER (i)
3N 4| S—AF v > 54.0 (1172 (cay | EREE— .
R:TTRTLE— FB:RU—ZKy bk =EHp
SO j 4 3 | PIEREE 1:03.7 1-1 39.2| — 5 432 | BAEE (dtiEE)
41717 K~ ZJIL— A51’.§0 (1 1/2) (+4) (A) %ﬁ_'i._77]L——L\
R:THINEry b BT XEY— HFET7— L
R HHHE :04. - . - FOBE (dtEE)
50111 =k ZHAL X 4 3 50 = 1(024)1 3-4 39.2 4 (4_646) kﬁg% 2]
L:ZZXHTLR B:IFI/NCT— hHE EE
# 3 | BETE 1:04.4 6-6 38.7| — 8 418 | BORE (tiEd)
EE 6 ) hbA4AA— 56.0 (11/2) o) EET= .
L:xrinMaO— B:YrT4=X b AR5
AT B > 3| BfREZ 1:04.7 7-7 38.5 — 3 428 | AIlIFHE (LiEE)
7lgli0l 75> K hUB— &S d ) oy | ) 75 ki
RXHT R BRE—hT—F VEPAY ¢
‘5 %S FEilgh : - - EHES (i)
8 3| KF1T7ova 4 3 b 1.84).9 9-7 38.4 9 e(yg? e e
L:Urh—r BAXATYTLyda A HE
S S N 4 3 | TKEKE 1:05.0 7-9 38.8| — 10 | 388 |fAEERER (dtimd)
9/8|l9| Z¥ANYEY 54.0 (3/4) (1) | EHE— -
R:Z2*¥ v BF-—INTIRFT—T EH OB
NN . 4 3 | BEEY 1:05.1 9-9 38.6| — 7 a2 | HERFE (dtieE)
10/5|5| ¥AEZBET 54.0 (7€) (46) £t
L:vv¥/ by THY BTV -XTr Hro—t>
® 1—F—@EBIERL
13—7-—
2a=5"=
== (4,7),(1,2),8,6,(9,10), (3,5)
AT =5F= (4,7),2,1,8,6,(3,10), (5,9)
[ N5
B 2 190M 7 3 2-7 180M 3EE 2-4-8 610M
B B 2 1204 B & 2-8 230M 3EE 2-8-4 1,800
8 1004 B HE 2-8 390M
4 1809

ABICOVWTRDTEEERROODE. TR LIV,




